
Data sheet
Mounting kit, cage nuts M6

     Page 1/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Illustrations

See enlarged drawings at the end of document

Product specification

• Suitable for standard data network cabinets

• Mounting kit consisting of:

• 8x lens head screws M6x16

• 8x cage nuts M6

• 8x plastic washers



Data sheet
Mounting kit, cage nuts M6

     Page 2/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Technical Data

General Data
Design mounting kit / mounting set 

Mounting style Accessories 

Color metallike 

Materials and material properties
Halogen free yes 

RoHS compliant 

Classifications
ETIM 5.0 EC002625 

ETIM 6.0 EC002625 

ETIM 7.0 EC002625 

ETIM 8.0 EC002625 

ETIM 9.0 EC002625 

Packing details
Type of packaging 1 pc(s) / plastic bag 

Packaging dimension 300 mm x 200 mm x 50 mm 

Packaging dimension 11.811 in. x 7.874 in. x 1.969 in. 



Data sheet
Mounting kit, cage nuts M6

     Page 3/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from

P/N Designation
130807-E Module Frame 3RU 19 inch

130814-0203-E UAE 25x8(4) Cat.3 patch panel, steel black

130814-E UAE 25x8(4) Cat.3 patch panel

130851-01-E E-DAT patch panel 10 inch 1RU 12 port

130851-E E-DAT 24x8 Patch Panel Class E/Cat.6 Link

130853-E E-DAT design 24x8 patch panel class E link

130854C-29-E E-DAT C6A 24 port patch panel 0,5RU LSA

130855C-E E-DAT C6A 24 port patch panel 1RU LSA

130855-E E-DAT C6 24x8(8) 1RU LSA Cat.6 patch panel

130856C-E E-DAT C6A 24 port patch panel 1RU LSA modular

130856-E E-DAT C6 24x8(8) 1RU modular LSA Cat.6 patch panel

130859-E E-DAT C6 48 Port patch panel coupler 1RU

130863T101E Click & fix 19 inch frame for cable connector 1RU

130886-0203-E UAE 50x8(4) Cat.3 patch panel, steel black

130886-E UAE 50x8 Cat.3 patch panel

130887-E UAE 25x8(8) Cat.3 patch panel

130894-01-03-E Cable manager 19 inches/1RU 56 mm RAL 7035 grey

130894-01-29-E Cable manager 19 inches/1RU 56 mm RAL 9005 black

130894-01-AL-E Cable manager 19 inches/1RU 56 mm brushed aluminium

130894-01-ES-E Cable manager 19 inches/1RU 56 mm steel

130894-02-03-E Cable manager 19 inches/1RU 100 mm RAL 7035 grey

130894-02-29-E Cable manager 19 inches/1RU 100 mm RAL 9005 black

130894-02-AL-E Cable manager 19 inches/1RU 100 mm brushed aluminium

130894-02-ES-E Cable manager 19 inches/1RU 100 mm steel

130894-03-03-E Cable manager 19 inches/1RU 75 mm RAL 7035 grey

130894-03-29-E Cable manager 19 inches/1RU 75 mm RAL 9005 black

130894-05-29-E Cable manager 19 inches/0,5RU 56 mm RAL 9005 black

130920-00-E Modul 19 inch module frame 1RU 24 Port light gray unequipped,
shielded

130920-00KE Keystone 19 inch module frame 1RU
24 port light gray unequipped, shielded

130920-BK-E Modul 19 inch module frame 1RU 24 port black unequipped,
shielded

130920-BKKE Keystone 19 inch module frame 1RU
24 port black unequipped, shielded



Data sheet
Mounting kit, cage nuts M6

     Page 4/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
130920-E E-DAT modul 24x8(8) 1RU patch panel Cat.6A, light gray

130921-00-E Modul 19 inch module frame 1RU 24 port
stainless steel unequipped

130921-E E-DAT modul 24x8(8) 1RU patch panel Cat.6A, stainless steel

130924-00-E Modul 19 inch module frame 1.5RU 48 port
stainless steel unequipped

130924-BKKE Keystone 19 inch module frame 1.5RU 48 port
black unequipped, shielded

130924-E E-DAT modul 48x8(8) 1.5RU patch panel Cat.6A, stainless steel

130925-BKKE Keystone 19 inch module frame 0.5RU 24 port black unequipped

130925-GRKE Keystone 19 inch module frame 0.5RU 24 port gray unequipped

130926-0003KE Keystone 19 inch module frame 1RU 24 port grey unequipped,
shielded

130926-0029KE Keystone 19 inch module frame 1RU 24 port black unequipped,
shielded

130926A0003KE Keystone 19 inch module frame 1RU 24 port angeled
grey unequipped, shielded

130926A0029KE Keystone 19 inch module frame 1RU 24 port angeled
black unequipped, shielded

130926AA029KE Keystone 19 inch module frame 1RU 24 ports
133° angled, black, unequipped, shielded

130A08-AP29-E UTP 24 port 1RU LSA Cat.5e patch panel

130A10-AP29-E UTP 24 port 1RU LSA Cat.6 patch panel

130A20-00-E Keystone 19 inch module frame 1RU 24 port
light gray unequipped, unshielded

130A20-BK-E Keystone 19 inch module frame 1RU 24 port
black unequipped, unshielded

130A21-00-E Keystone 19 inch module frame 1RU 24 port
stainless steel unequipped

130A24-00-E Keystone 19 inch module frame 1.5RU 48 port
stainless steel unequipped

130B11P0-E C6Amodul 24 port 180°M 1RU

130B11P1-E C6Amodul 24 port 180°M 1RU stainless steel

130B11P4-E C6Amodul 48 port 180°M 1.5RU stainless steel

130D2B1B-E DCCS2 BGT 19 inch 1RU subrack black

130D2B1G-E DCCS2 BGT 19 inch 1RU subrack light gray

130DB1B-E DCCS BGT 19 inch 1RU subrack frame black

130DB1G-E DCCS BGT 19 inch 1RU subrack frame light gray

13PC1B-E Patch Management Controller with display 19 inchl 1RU black



Data sheet
Mounting kit, cage nuts M6

     Page 5/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
13PP1001B-E PM patch panel keystone 24 Port 1RU black, unequipped

13PP1073B-E PM patch panel fix 24xLC-D OM3 1RU
black

13PP1075B-E PM patch panel fix 24xLC-D OM4 1RU
black

13PP10B-E PM patch panel 24 Port 1RU black, unequipped

13PP1173B-E PM patch panel fix 24xLC-D OM3 1RU
black with Sensor Bar

13PP1175B-E PM patch panel fix 24xLC-D OM4 1RU
black with Sensor Bar

13PP11B-E PM patch panel 24 Port 1RU, unequipped, black with Sensor Bar

13PP2001B-E PM patch panel keystone 48 Port 1.5RU black, unequipped

13PP20B-E PM patch panel 48 Port 1.5RU black, unequipped

13PP21B-E PM patch panel 48 Port 1.5RU, unequipped, black with Sensor Bar

13PS1173B-E PM Sensor Bar for PM patch panel fix
24xLC-D OM3 1RU black

13PS1175B-E PM Sensor Bar for PM patch panel fix
24xLC-D OM4 1RU black

13PS1B-E PM Sensor Bar for PM patch panel 24 ports 1RU

13PS2B-E PM Sensor Bar for PM patch panel 48 ports 1.5RU

1502000100-E OpDAT PF patch panel for 24xST-Simplex

1502000106-E OpDAT PF patch panel VIK
6xST-S (metal), SM + MM, gray

1502000112-E OpDAT PF patch panel VIK 12xST-Simplex SM+MM

1502000124-E OpDAT PF patch panel VIK 24xST-Simplex SM+MM

1502003112-E OpDAT PF patch panel VIK
12xST-S (metal), MM, gray

1502003124-E OpDAT PF patch panel VIK
24xST-S (metal), MM, gray

1502005200-E OpDAT PF patch panel for
12xSC-Duplex/LC-Q/ST-Duplex

1502005206-E OpDAT PF patch panel VIK 6xSC-Duplex MM

1502005212-E OpDAT PF patch panel VIK 12xSC-Duplex MM

1502005812-E OpDAT PF patch panel VIK 12xE2000-Simplex OS2

1502005824-E OpDAT PF patch panel VIK 24xE2000-Simplex OS2

1502005912-E OpDAT PF patch panel VIK 12xE2000-Simplex APC OS2

1502005924-E OpDAT PF patch panel VIK 24xE2000-Simplex APC OS2

1502005M12-E OpDAT PF patch panel VIK
12xE2000 (lime green), OM5, gray



Data sheet
Mounting kit, cage nuts M6

     Page 6/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502007300-E OpDAT PF patch panel for

24xLC-Duplex/SC-Simplex/E2000-Simplex

1502007306-E OpDAT PF Patchfeld VIK
6xLC-D (beige), MM, grau

1502007312-E OpDAT PF patch panel VIK
12xLC-D (beige), MM, gray

1502007324-E OpDAT PF patch panel VIK
24xLC-D (beige), MM, gray

1502007406-E OpDAT PF patch panel VIK 6xLC-Duplex OS2

1502007412-E OpDAT PF patch panel VIK 12xLC-Duplex OS2

1502007424-E OpDAT PF patch panel VIK 24xLC-Duplex OS2

1502007506-E OpDAT PF patch panel VIK 6xLC-Duplex OM4

1502007512-E OpDAT PF patch panel VIK 12xLC-Duplex OM4

1502007524-E OpDAT PF patch panel VIK 24xLC-Duplex OM4

1502007612-E OpDAT PF patch panel VIK 12xLC-Duplex APC OS2

1502007624-E OpDAT PF patch panel VIK 24xLC-Duplex APC OS2

1502007706-E OpDAT PF patch panel VIK 6xLC-Duplex OM3

1502007712-E OpDAT PF patch panel VIK 12xLC-Duplex OM3

1502007724-E OpDAT PF patch panel VIK 24xLC-Duplex OM3

1502007M12-E OpDAT PF patch panel VIK
12xLC-D (lime green), OM5, gray

1502007M24-E OpDAT PF patch panel VIK 24xLC-Duplex OM5

150200BA06-E OpDAT PF patch panel VIK 6xSC-Duplex OM3

150200BA12-E OpDAT PF patch panel VIK 12xSC-Duplex OM3

150200BB06-E OpDAT PF patch panel VIK 6xSC-Duplex OM4

150200BB12-E OpDAT PF patch panel VIK 12xSC-Duplex OM4

150200BM12-E OpDAT PF patch panel VIK 12xSC-Duplex OM5

150200C206-E OpDAT PF patch panel VIK
6xSC-D (metal), MM, gray

150200C212-E OpDAT PF patch panel VIK
12xSC-D (metal), MM, gray

150200E206-E OpDAT PF patch panel VIK
6xSC-D (blue), OS2, gray

150200E212-E OpDAT PF patch panel VIK 12xSC-Duplex OS2

150200F206-E OpDAT PF patch panel VIK
6xSC-D APC (green), OS2, gray

150200F212-E OpDAT PF patch panel VIK 12xSC-Duplex APC OS2

1502017412-E OpDAT PF patch panel VIK
12xLC-D (blue), OS2, gray



Data sheet
Mounting kit, cage nuts M6

     Page 7/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150201D212-E OpDAT PF patch panel VIK

12xSC-D (metal), SM+MM, gray

1502020112-E OpDAT PF patch panel splice 12xST-Simplex OM2

1502020124-E OpDAT PF patch panel splice 24xST-Simplex OM2

15020231120E OpDAT PF 1HE Patchfeld festeinbau
12xST MM (Ph-Br) Pigtails OM2 beigelegt

1502023112-E OpDAT PF patch panel splice
12xST-S (metal), OM2, gray

15020231240E OpDAT PF 1HE Patchfeld festeinbau
24xST MM (Ph-Br) Pigtails OM2 beigelegt

1502023124-E OpDAT PF patch panel splice
24xST-S (metal), OM2, gray

1502025206-E OpDAT PF patch panel splice
6xSC-D (metal), OM2, gray

1502025212-E OpDAT PF patch panel splice 12xSC-Duplex OM2

150202C2060E OpDAT PF 1HE Patchfeld festeinbau
6xSC-D MM (Ph-Br) Pigtails OM2 beigelegt

150202C206-E OpDAT PF patch panel splice
6xSC-D (metal), OM2, gray

150202C212-E OpDAT PF patch panel splice
12xSC-D (metal), OM2, gray

1502050112-E OpDAT PF patch panel splice 12xST-Simplex OM3

1502050124-E OpDAT PF patch panel splice 24xST-Simplex OM3

1502055206-E OpDAT PF patch panel splice
6xSC-D (metal), OM3, gray

1502055212-E OpDAT PF patch panel splice
12xSC-D (metal), OM3, gray

1502057706-E OpDAT PF patch panel splice 6xLC-Duplex OM3

1502057712-E OpDAT PF patch panel splice 12xLC-Duplex OM3

1502057724-E OpDAT PF patch panel splice 24xLC-Duplex OM3

150205BA06-E OpDAT PF patch panel splice 6xSC-Duplex OM3

150205BA12-E OpDAT PF patch panel splice 12xSC-Duplex OM3

150205C206-E OpDAT PF patch panel splice
6xSC-D (metal), OM3, gray

150205C212-E OpDAT PF patch panel splice
12xSC-D (metal), OM3, gray

1502070112-E OpDAT PF patch panel splice 12xST-Simplex OM4

1502070124-E OpDAT PF patch panel splice 24xST-Simplex OM4

1502075206-E OpDAT PF patch panel splice
6xSC-D (metal), OM4, gray



Data sheet
Mounting kit, cage nuts M6

     Page 8/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502075212-E OpDAT PF patch panel splice

12xSC-D (metal), OM4, gray

1502077506-E OpDAT PF patch panel splice 6xLC-Duplex OM4

1502077512-E OpDAT PF patch panel splice 12xLC-Duplex OM4

1502077524-E OpDAT PF patch panel splice 24xLC-Duplex OM4

150207BB06-E OpDAT PF patch panel splice 6xSC-Duplex OM4

150207BB12-E OpDAT PF patch panel splice 12xSC-Duplex OM4

150207C206-E OpDAT PF patch panel splice
6xSC-D (metal), OM4, gray

150207C212-E OpDAT PF patch panel splice
12xSC-D (metal), OM4, gray

150208BM12-E OpDAT PF patch panel splice
12xSC-D (lime green), OM5, gray

1502090112-E OpDAT PF patch panel splice 12xST-Simplex OS2

1502090124-E OpDAT PF patch panel splice 24xST-Simplex OS2

1502095812-E OpDAT PF patch panel splice 12xE2000-Simplex OS2

1502095824-E OpDAT PF patch panel splice 24xE2000-Simplex OS2

1502095912-E OpDAT PF patch panel splice 12xE2000-Simplex APC OS2

1502095924-E OpDAT PF patch panel splice 24xE2000-Simplex APC OS2

1502095N12-E OpDAT PF patch panel splice
12xE2000-S APC Grade B (green), OS2, gray

1502097406-E OpDAT PF patch panel splice 6xLC-Duplex OS2

1502097412-E OpDAT PF patch panel splice 12xLC-Duplex OS2

1502097424-E OpDAT PF patch panel splice 24xLC-Duplex OS2

1502097606-E OpDAT PF patch panel splice 6xLC-Duplex APC OS2

1502097612-E OpDAT PF patch panel splice 12xLC-Duplex APC OS2

1502097624-E OpDAT PF patch panel splice 24xLC-Duplex APC OS2

1502097N12-E OpDAT PF patch panel splice
12xLC-D APC Grade B (green), OS2, gray

1502097P12-E OpDAT PF patch panel splice
12xLC-D UPC Grade B (blue), OS2, gray

150209BN12-E OpDAT PF patch panel splice
12xSC-D APC Grade B (green), OS2, gray

150209BP12-E OpDAT PF patch panel splice
12xSC-D UPC Grade B (blue), OS2, gray

150209D206-E OpDAT PF patch panel splice 6xSC-Duplex (metal) OS2

150209D212-E OpDAT PF patch panel splice 12xSC-Duplex (metal) OS2

150209E206-E OpDAT PF patch panel splice 6xSC-Duplex OS2



Data sheet
Mounting kit, cage nuts M6

     Page 9/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150209E212-E OpDAT PF patch panel splice 12xSC-Duplex OS2

150209F206-E OpDAT PF patch panel splice 6xSC-Duplex APC OS2

150209F212-E OpDAT PF patch panel splice
12xSC-D APC (green), OS2, gray

1502200100-E OpDAT PA patch panel for 24xST-Simplex

1502200112-E OpDAT PA patch panel VIK 12xST-Simplex SM+MM

1502200124-E OpDAT PA patch panel VIK 24xST-Simplex SM+MM

1502200200-E OpDAT PA patch panel unequipped
for 24xLC-D/SC-S/E2000, gray

1502203112-E OpDAT PA patch panel VIK
12xST-S (metal), MM, gray

1502203124-E OpDAT PA patch panel VIK
24xST-S (metal), MM, gray

1502205200-E OpDAT PA patch panel for 12xSC-Duplex/LC-Quad/ST-Duplex

1502207306-E OpDAT PA patch panel VIK
6xLC-D (beige), MM, gray

1502207312-E OpDAT PA patch panel VIK
12xLC-D (beige), MM, gray

1502207406-E OpDAT PA patch panel VIK 6xLC-Duplex OS2

1502207412-E OpDAT PA patch panel VIK 12xLC-Duplex OS2

1502207506-E OpDAT PA patch panel VIK 6xLC-Duplex OM4

1502207512-E OpDAT PA patch panel VIK 12xLC-Duplex OM4

1502207706-E OpDAT PA patch panel VIK 6xLC-Duplex OM3

1502207712-E OpDAT PA patch panel VIK 12xLC-Duplex OM3

1502207724-E OpDAT PA patch panel VIK 24xLC-Duplex OM3

1502207M12-E OpDAT PA patch panel VIK 12xLC-Duplex OM5

150220BA06-E OpDAT PA patch panel VIK
6xSC-D (aqua), OM3, gray

150220BA12-E OpDAT PA patch panel VIK
12xSC-D (aqua), OM3, gray

150220BB06-E OpDAT PA patch panel VIK 6xSC-Duplex OM4

150220BB12-E OpDAT PA patch panel VIK 12xSC-Duplex OM4

150220BM12-E OpDAT PA patch panel VIK 12xSC-Duplex OM5

150220C206-E OpDAT PA patch panel VIK
6xSC-D (metal), MM, gray

150220C212-E OpDAT PA patch panel VIK
12xSC-D (metal), MM, gray

150220E206-E OpDAT PA patch panel VIK
6xSC-D (blue), OS2, gray



Data sheet
Mounting kit, cage nuts M6

     Page 10/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150220E212-E OpDAT PA patch panel VIK

12xSC-D (blue), OS2, gray

1502210124-E OpDAT PA patch panel VIK
24xST-S (metal), SM+MM, gray

150221D212-E OpDAT PA patch panel VIK
12xSC-D (metal), SM+MM, gray

1502220112-E OpDAT PA patch panel splice 12xST-Simplex OM2

1502220124-E OpDAT PA patch panel splice 24xST-Simplex OM2

1502223112-E OpDAT PA patch panel splice
12xST-S (metal), OM2, gray

15022231240E OpDAT PA 1HE Patchfeld ausziehbar
24xST MM (Ph-Br) Pigtails OM2 beigelegt

1502223124-E OpDAT PA patch panel splice
24xST-S (metal), OM2, gray

1502225206-E OpDAT PA patch panel splice
6xSC-D (metal), OM2, gray

1502225212-E OpDAT PA patch panel splice 12xSC-Duplex OM2

1502227306-E OpDAT PA patch panel splice
6xLC-D (beige), OM2, gray

1502227312-E OpDAT PA patch panel splice
12xLC-D (beige), OM2, gray

150222C206-E OpDAT PA patch panel splice
6xSC-D (metal), OM2, gray

150222C212-E OpDAT PA patch panel splice
12xSC-D (metal), OM2, gray

1502230124-E OpDAT PA 1HE Patchfeld ausziehbar
24xST MM (Keramik) Pigtails OM1 eingelegt und abgesetzt

150224D206-E OpDAT PA 1HE Patchfeld ausziehbar 6xSC-D SM (Keramik)
Pigtails OS1 eingelegt und abgesetzt

150224D212-E OpDAT PA 1HE Patchfeld ausziehbar 12xSC-D SM (Keramik)
Pigtails OS1 eingelegt und abgesetzt

1502250112-E OpDAT PA patch panel splice 12xST-Simplex OM3

1502250124-E OpDAT PA patch panel splice 24xST-Simplex OM3

1502255206-E OpDAT PA patch panel splice 6xSC-Duplex (metal) OM3

1502257706-E OpDAT PA patch panel splice 6xLC-Duplex OM3

1502257712-E OpDAT PA patch panel splice 12xLC-Duplex OM3

150225BA06-E OpDAT PA patch panel splice 6xSC-Duplex OM3

150225BA12-E OpDAT PA patch panel splice 12xSC-Duplex OM3

150225C206-E OpDAT PA patch panel splice
6xSC-D (metal), OM3, gray

150225C212-E OpDAT PA patch panel splice
12xSC-D (metal), OM3, gray



Data sheet
Mounting kit, cage nuts M6

     Page 11/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502270112-E OpDAT PA patch panel splice

12xST-S (metal), OM4, gray

1502270124-E OpDAT PA patch panel splice 24xST-Simplex OM4

1502275206-E OpDAT PA patch panel splice
6xSC-D (metal), OM4, gray

1502275212-E OpDAT PA patch panel splice
12xSC-D (metal), OM4, gray

1502277506-E OpDAT PA patch panel splice 6xLC-Duplex OM4

1502277512-E OpDAT PA patch panel splice 12xLC-Duplex OM4

150227BB06-E OpDAT PA patch panel splice 6xSC-Duplex OM4

150227BB12-E OpDAT PA patch panel splice 12xSC-Duplex OM4

150227C206-E OpDAT PA patch panel splice
6xSC-D (metal), OM4, gray

150227C212-E OpDAT PA patch panel splice
12xSC-D (metal), OM4, gray

1502287M12-E OpDAT PA patch panel splice 12xLC-Duplex OM5

150228BM12-E OpDAT PA patch panel splice
12xSC-D (lime green), OM5, gray

1502290112-E OpDAT PA patch panel splice
12xST-S (metal), OS2, gray

1502290124-E OpDAT PA patch panel splice 24xST-Simplex OS2

1502295812-E OpDAT PA patch panel splice
12xE2000 (blue), OS2, gray

1502295824-E OpDAT PA patch panel splice
24xE2000 (blue), OS2, gray

1502295912-E OpDAT PA patch panel splice
12xE2000 APC (green), OS2, gray

1502295924-E OpDAT PA patch panel splice 24xE2000-Simplex APC OS2

1502295N12-E OpDAT PA patch panel splice
12xE2000-S APC Grade B (green), OS2, gray

1502297406-E OpDAT PA patch panel splice 6xLC-Duplex OS2

1502297412-E OpDAT PA patch panel splice 12xLC-Duplex OS2

1502297606-E OpDAT PA patch panel splice 6xLC-Duplex APC OS2

1502297612-E OpDAT PA patch panel splice 12xLC-Duplex APC OS2

1502297N12-E OpDAT PA patch panel splice
12xLC-D APC Grade B (green), OS2, gray

1502297P12-E OpDAT PA patch panel splice
12xLC-D UPC Grade B (blue), OS2, gray

150229BN12-E OpDAT PA patch panel splice
12xSC-D APC Grade B (green), OS2, gray



Data sheet
Mounting kit, cage nuts M6

     Page 12/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150229BP12-E OpDAT PA patch panel splice

12xSC-D UPC Grade B (blue), OS2, gray

150229D206-E OpDAT PA patch panel splice 6xSC-Duplex (metal) OS2

150229D212-E OpDAT PA patch panel splice 12xSC-Duplex (metal) OS2

150229E206-E OpDAT PA patch panel splice 6xSC-Duplex OS2

150229E212-E OpDAT PA patch panel splice 12xSC-Duplex OS2

150229F206-E OpDAT PA patch panel splice
6xSC-D APC (green), OS2, gray

150229F212-E OpDAT PA patch panel splice
12xSC-D APC (green), OS2, gray

1502501M12-E OpDAT fix patch panel VIK 12xSC-Simplex OM5

1502503100-E OpDAT fix patch panel for 24xST, unequipped

1502504106-E OpDAT fix patch panel VIK
6xST-D (metal), MM, gray

1502504112-E OpDAT fix patch panel VIK
12xST-D (metal), MM, gray

1502504124-E OpDAT fix patch panel VIK
24xST-D (metal), MM, gray

1502505812-E OpDAT fix patch panel VIK
12xE2000-Simplex OS2

1502505824-E OpDAT fix patch panel VIK
24xE2000 (blue), OS2, gray

1502505906-E OpDAT fix patch panel VIK
6xE2000-Simplex APC OS2

1502505912-E OpDAT fix patch panel VIK
12xE2000-Simplex APC OS2

1502505924-E OpDAT fix patch panel VIK
24xE2000-Simplex APC OS2

1502505E24-E OpDAT fix patch panel VIK
24xE2000-D (blue), OS2, gray

1502505F00-E OpDAT fix patch panel unequipped
for 24xE2000-D, gray

1502505F12-E OpDAT fix patch panel VIK
12xE2000-Duplex APC OS2

1502505F24-E OpDAT fix patch panel VIK
24xE2000-Duplex APC OS2

1502505M12-E OpDAT fix patch panel VIK
12xE2000 (lime green), OM5, gray

1502507300-E OpDAT fix patch panel for 24xLC-Duplex/SC-Simplex/E2000

1502507306-E OpDAT fix patch panel VIK
6xLC-D (beige), MM, gray

1502507312-E OpDAT fix patch panel VIK
12xLC-D (beige), MM, gray



Data sheet
Mounting kit, cage nuts M6

     Page 13/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502507324-E OpDAT fix patch panel VIK

24xLC-D (beige), MM, gray

1502507406-E OpDAT fix patch panel VIK 6xLC-Duplex OS2

1502507412-B OpDAT fix patch panel VIK
12xLC-Duplex OS2 black

1502507412-E OpDAT fix patch panel VIK 12xLC-Duplex OS2

1502507424-B OpDAT fix patch panel VIK 24xLC-Duplex OS2 black

1502507424-E OpDAT fix patch panel VIK 24xLC-Duplex OS2

1502507506-E OpDAT fix patch panel VIK 6xLC-Duplex OM4

1502507512-B OpDAT fix patch panel VIK
12xLC-Duplex OM4 black

1502507512-E OpDAT fix patch panel VIK 12xLC-Duplex OM4

1502507524-B OpDAT fix patch panel VIK 24xLC-Duplex OM4 black

1502507524-E OpDAT fix patch panel VIK 24xLC-Duplex OM4

1502507606-E OpDAT fix patch panel VIK 6xLC-Duplex APC OS2

1502507612-E OpDAT fix patch panel VIK
12xLC-Duplex APC OS2

1502507624-E OpDAT fix patch panel VIK 24xLC-Duplex APC OS2

1502507706-E OpDAT fix patch panel VIK 6xLC-Duplex OM3

1502507712-B OpDAT fix patch panel VIK
12xLC-Duplex OM3 black

1502507712-E OpDAT fix patch panel VIK 12xLC-Duplex OM3

1502507724-B OpDAT fix patch panel VIK 24xLC-Duplex OM3 black

1502507724-E OpDAT fix patch panel VIK 24xLC-Duplex OM3

1502507M12-E OpDAT fix patch panel VIK 12xLC-Duplex OM5

1502507M24-E OpDAT fix patch panel VIK 24xLC-Duplex OM5

150250B200-E OpDAT fix patch panel for 24xSC-Duplex/LC-Quad/ST-Duplex

150250B206-E OpDAT fix patch panel VIK 6xSC-Duplex OM2

150250B212-E OpDAT fix patch panel VIK 12xSC-Duplex OM2

150250B224-E OpDAT fix patch panel VIK 24xSC-Duplex OM2

150250BA06-E OpDAT fix patch panel VIK 6xSC-Duplex OM3

150250BA12-E OpDAT fix patch panel VIK 12xSC-Duplex OM3

150250BA24-E OpDAT fix patch panel VIK 24xSC-Duplex OM3

150250BB06-E OpDAT fix patch panel VIK 6xSC-Duplex OM4

150250BB12-E OpDAT fix patch panel VIK 12xSC-Duplex OM4

150250BB24-E OpDAT fix patch panel VIK 24xSC-Duplex OM4



Data sheet
Mounting kit, cage nuts M6

     Page 14/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150250BM12-E OpDAT fix patch panel VIK 12xSC-Duplex OM5

150250BM24-E OpDAT fix patch panel VIK 24xSC-Duplex OM5

150250D106-E OpDAT fix patch panel VIK 6xST-Duplex SM+MM

150250D112-E OpDAT fix patch panel VIK 12xST-Duplex SM+MM

150250D124-E OpDAT fix patch panel VIK 24xST-Duplex SM+MM

150250E206-E OpDAT fix patch panel VIK 6xSC-Duplex OS2

150250E212-E OpDAT fix patch panel VIK 12xSC-Duplex OS2

150250E224-E OpDAT fix patch panel VIK 24xSC-Duplex OS2

150250F206-E OpDAT fix patch panel VIK 6xSC-Duplex APC OS2

150250F212-E OpDAT fix patch panel VIK
12xSC-Duplex APC OS2

150250F224-E OpDAT fix patch panel VIK
24xSC-Duplex APC OS2

1502517406-E OpDAT fix patch panel VIK
6xLC-D (blue), OS2, gray

1502517424-E OpDAT fix Patchfeld 24xLC-D (Keramik, blau), VIK

1502524106-E OpDAT fix patch panel splice
6xST-D (metal), OM2, gray

1502524112-E OpDAT fix patch panel splice
12xST-D (metal), OM2, gray

1502527306-E OpDAT fix patch panel splice
6xLC-D (beige), OM2, gray

1502527312-E OpDAT fix patch panel splice
12xLC-D (beige), OM2, gray

1502527324-E OpDAT fix patch panel splice
24xLC-D (beige), OM2, gray

150252B206-E OpDAT fix patch panel splice
6xSC-D (beige), OM2, gray

150252B212-E OpDAT fix patch panel splice
12xSC-D (beige), OM2, gray

150252B224-E OpDAT fix patch panel splice 24xSC-Duplex OM2

1502554106-E OpDAT fix patch panel splice
6xST-D (metal), OM3, gray

1502554112-E OpDAT fix patch panel splice
12xST-D (metal), OM3, gray

1502554124-E OpDAT fix patch panel splice
24xST-D (metal), OM3, gray

1502557706-E OpDAT fix patch panel splice 6xLC-Duplex OM3

1502557706-F OpDAT fix patch panel splice 6xLC-Duplex OM3,
12 front cover



Data sheet
Mounting kit, cage nuts M6

     Page 15/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502557712-B OpDAT fix patch panel splice

12xLC-D (aqua), OM3, black

1502557712-E OpDAT fix patch panel splice 12xLC-Duplex OM3

1502557724-E OpDAT fix patch panel splice 24xLC-Duplex OM3

1502557E12-E OpDAT fix patch panel splice 12xLC-Duplex OM3

150255BA06-E OpDAT fix patch panel splice 6xSC-Duplex OM3

150255BA06-F OpDAT fix patch panel splice 6xSC-Duplex OM3,
12 front cover

150255BA12-E OpDAT fix patch panel splice 12xSC-Duplex OM3

150255BA12-F OpDAT fix patch panel splice 12xSC-Duplex OM3,
12 front cover

150255BA24-E OpDAT fix patch panel splice 24xSC-Duplex OM3

150255D106-E OpDAT fix patch panel splice 6xST-Duplex OM3

150255D112-E OpDAT fix patch panel splice 12xST-Duplex OM3

150255D124-E OpDAT fix patch panel splice 24xST-Duplex OM3

1502577506-E OpDAT fix patch panel splice 6xLC-Duplex OM4

1502577506-F OpDAT fix patch panel splice 6xLC-Duplex OM4,
12 front cover

1502577512-E OpDAT fix patch panel splice 12xLC-Duplex OM4

1502577524-E OpDAT fix patch panel splice 24xLC-Duplex OM4

150257BB06-E OpDAT fix patch panel splice 6xSC-Duplex OM4

150257BB12-E OpDAT fix patch panel splice 12xSC-Duplex OM4

150257BB12-F OpDAT fix patch panel splice 12xSC-Duplex OM4,
12 front cover

150257BB24-E OpDAT fix patch panel splice 24xSC-Duplex OM4

150257D106-E OpDAT fix patch panel splice 6xST-Duplex OM4

150257D112-E OpDAT fix patch panel splice 12xST-Duplex OM4

150257D124-E OpDAT fix patch panel splice 24xST-Duplex OM4

1502581M12-E OpDAT fix patch panel splice
12xSC-S (lime green), OM5, gray

1502587M06-F OpDAT fix patch panel splice
6xLC-D (lime green), OM5, gray

1502587M12-E OpDAT fix patch panel splice 12xLC-Duplex OM5

1502587M24-E OpDAT fix patch panel splice 24xLC-Duplex OM5

150258BM12-E OpDAT fix patch panel splice 12xSC-Duplex OM5

150258BM24-E OpDAT fix patch panel splice 24xSC-Duplex OM5

1502595812-E OpDAT fix patch panel splice 12xE2000-Simplex APC OS2



Data sheet
Mounting kit, cage nuts M6

     Page 16/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502595824-E OpDAT fix patch panel splice 24xE2000-Simplex OS2

1502595912-E OpDAT fix patch panel splice 12xE2000-Simplex APC OS2

1502595924-E OpDAT fix patch panel splice 24xE2000-Simplex APC OS2

1502595D12-E OpDAT fix patch panel splice
12xE2000-D APC (green), OS2, gray

1502595E12-E OpDAT fix patch panel splice
12xE2000-D (blue), OS2, gray

1502595E24-E OpDAT fix patch panel splice
24xE2000-D (blue), OS2, gray

1502595F06-E OpDAT fix patch panel splice 6xE2000-Duplex APC OS2

1502595F12-E OpDAT fix patch panel splice 12xE2000-Duplex APC OS2

1502595F18-E OpDAT fix patch panel splice
18xE2000-D APC (green), OS2, gray

1502595F24-E OpDAT fix patch panel splice 24xE2000-Duplex APC OS2

1502597406-E OpDAT fix patch panel splice 6xLC-Duplex OS2

1502597412-E OpDAT fix patch panel splice 12xLC-Duplex OS2

1502597412-F OpDAT fix patch panel splice 12xLC-Duplex OS2,
12 front cover

1502597424-E OpDAT fix patch panel splice 24xLC-Duplex OS2

1502597606-E OpDAT fix patch panel splice 6xLC-Duplex APC OS2

1502597612-B OpDAT fix patch panel splice
12xLC-D APC (green), OS2, black

1502597612-E OpDAT fix patch panel splice 12xLC-Duplex APC OS2

1502597612-F OpDAT fix patch panel splice
12xLC-D APC (green), OS2, gray

1502597624-E OpDAT fix patch panel splice 24xLC-Duplex APC OS2

1502597E12-E OpDAT fix patch panel splice
12xLC-D (metal), OS2, gray

1502597N12-E OpDAT fix patch panel splice
12xLC-D APC Grade B (green), OS2, gray

1502597P12-E OpDAT fix patch panel splice
12xLC-D UPC Grade B (blue), OS2, gray

150259BN12-E OpDAT fix patch panel splice
12xSC-D APC Grade B (green), OS2, gray

150259BN24-E OpDAT fix patch panel splice
24xSC-D APC Grade B (green), OS2, gray

150259BP12-E OpDAT fix patch panel splice
12xSC-D UPC Grade B (blue), OS2, gray

150259D106-E OpDAT fix patch panel splice 6xST-Duplex OS2

150259D112-E OpDAT fix patch panel splice 12xST-Duplex OS2



Data sheet
Mounting kit, cage nuts M6

     Page 17/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150259D124-E OpDAT fix patch panel splice 24xST-Duplex OS2

150259D206-E OpDAT fix patch panel splice 6xSC-Duplex (metal) OS2

150259D212-E OpDAT fix patch panel splice
12xSC-D (metal), OS2, gray

150259E206-E OpDAT fix patch panel splice 6xSC-Duplex OS2

150259E212-E OpDAT fix patch panel splice 12xSC-Duplex OS2

150259E212-F OpDAT fix patch panel splice 12xSC-Duplex OS2,
12 front cover

150259E224-E OpDAT fix patch panel splice 24xSC-Duplex OS2

150259F206-E OpDAT fix patch panel splice 6xSC-Duplex APC OS2

150259F206-F OpDAT fix patch panel splice
12xSC-D APC (green), OS2, gray

150259F212-E OpDAT fix patch panel splice 12xSC-Duplex APC OS2

150259F212-F OpDAT fix patch panel splice
12xSC-D APC (green), OS2, gray

150259F224-E OpDAT fix patch panel splice 24xSC-Duplex APC OS2

1502604106-E OpDAT slide patch panel VIK
6xST-D (metal), MM, gray

1502604112-E OpDAT slide patch panel VIK
12xST-D (metal), MM, gray

1502604124-E OpDAT slide patch panel VIK
24xST-D (metal), MM, gray

1502605F00-E OpDAT slide patch panel unequipped
for 24xE2000-D, gray

1502605M12-E OpDAT slide patch panel VIK
12xE2000 (lime green), OM5, gray

1502607300-E OpDAT slide patch panel for
24xLC-Duplex/SC-Simplex/E2000

1502607406-E OpDAT slide patch panel VIK 6xLC-Duplex OS2

1502607412-E OpDAT slide patch panel VIK 12xLC-Duplex OS2

1502607506-E OpDAT slide patch panel VIK 6xLC-Duplex OM4

1502607512-E OpDAT slide patch panel VIK 12xLC-Duplex OM4

1502607524-E OpDAT slide patch panel VIK 24xLC-Duplex OM4

1502607M12-E OpDAT slide patch panel VIK
12xLC-D (lime green), OM5, gray

150260B200-E OpDAT slide patch panel for
24xSC-Duplex/LC-Quad/ST-Duplex

150260BA12-B OpDAT slide patch panel VIK
12xSC-D (aqua), OM3, black

150260BA24-B OpDAT slide patch panel VIK
24xSC-D (aqua), OM3, black



Data sheet
Mounting kit, cage nuts M6

     Page 18/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150260BA24-E OpDAT slide patch panel VIK 24xSC-Duplex OM3

150260BB12-B OpDAT slide patch panel VIK
12xSC-D (violet), OM4, black

150260BB12-E OpDAT slide patch panel VIK 12xSC-Duplex OM4

150260BB24-B OpDAT slide patch panel VIK
24xSC-D (violet), OM4, black

150260BB24-E OpDAT slide patch panel VIK 24xSC-Duplex OM4

150260BM12-E OpDAT slide patch panel VIK
12xSC-D (lime green), OM5, gray

150260E206-E OpDAT slide patch panel VIK
6xSC-D (blue), OS2, gray

150260E212-B OpDAT slide patch panel VIK
12xSC-D (blue), OS2, black

150260E224-B OpDAT slide patch panel VIK
24xSC-D (blue), OS2, black

150262B206-E OpDAT slide patch panel splice 6xSC-Duplex OM2

150262B212-E OpDAT slide patch panel splice
12xSC-D (beige), OM2, gray

150262B224-E OpDAT slide patch panel splice 24xSC-Duplex OM2

1502654112-E OpDAT slide patch panel splice
12xST-D (metal), OM3, gray

1502655H24-E OpDAT slide patch panel splice 24xE2000-Simplex OM3

1502657706-E OpDAT slide patch panel splice 6xLC-Duplex OM3

1502657706-F OpDAT slide patch panel splice
6xLC-D (aqua), OM3, gray

1502657712-E OpDAT slide patch panel splice 12xLC-Duplex OM3

1502657724-E OpDAT slide patch panel splice 24xLC-Duplex OM3

150265BA06-E OpDAT slide patch panel splice 6xSC-Duplex OM3

150265BA12-E OpDAT slide patch panel splice 12xSC-Duplex OM3

150265BA24-E OpDAT slide patch panel splice 24xSC-Duplex OM3

150265D106-E OpDAT slide patch panel splice 6xST-Duplex OM3

150265D112-E OpDAT slide patch panel splice 12xST-Duplex OM3

150265D124-E OpDAT slide patch panel splice 24xST-Duplex OM3

1502674112-E OpDAT slide patch panel splice
12xST-D (metal), OM4, gray

1502675G24-E OpDAT slide patch panel splice 24xE2000-Simplex OM4

1502677506-E OpDAT slide patch panel splice 6xLC-Duplex OM4

1502677512-E OpDAT slide patch panel splice 12xLC-Duplex OM4



Data sheet
Mounting kit, cage nuts M6

     Page 19/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
1502677524-E OpDAT slide patch panel splice 24xLC-Duplex OM4

150267BB06-E OpDAT slide patch panel splice 6xSC-Duplex OM4

150267BB12-E OpDAT slide patch panel splice 12xSC-Duplex OM4

150267BB24-E OpDAT slide patch panel splice 24xSC-Duplex OM4

150267D106-E OpDAT slide patch panel splice 6xST-Duplex OM4

150267D112-E OpDAT slide patch panel splice 12xST-Duplex OM4

150267D124-E OpDAT slide patch panel splice 24xST-Duplex OM4

1502687M12-E OpDAT slide patch panel splice 12xLC-Duplex OM5

1502687M24-E OpDAT slide patch panel splice 24xLC-Duplex OM5

150268BM12-E OpDAT slide patch panel splice
12xSC-D (lime green), OM5, gray

150268BM24-E OpDAT slide patch panel splice
24xSC-D (lime green), OM5, gray

1502695812-E OpDAT slide patch panel splice 12xE2000-Simplex OS2

1502695824-E OpDAT slide patch panel splice
24xE2000 (blue), OS2, gray

1502695912-E OpDAT slide patch panel splice 12xE2000-Simplex APC OS2

1502695924-E OpDAT slide patch panel splice 24xE2000-Simplex APC OS2

1502695D12-E OpDAT slide patch panel splice
12xE2000-D APC Grade B (green), OS2, gray

1502695E12-E OpDAT slide patch panel splice
12xE2000-D (blue), OS2, gray

1502695E24-E OpDAT slide patch panel splice
24xE2000-D (blue), OS2, gray

1502695F12-E OpDAT slide patch panel splice 12xE2000-Duplex APC OS2

1502695F24-E OpDAT slide patch panel splice 24xE2000-Duplex APC OS2

1502697406-E OpDAT slide patch panel splice 6xLC-Duplex OS2

1502697412-E OpDAT slide patch panel splice 12xLC-Duplex OS2

1502697424-E OpDAT slide patch panel splice 24xLC-Duplex OS2

1502697606-E OpDAT slide patch panel splice 6xLC-Duplex APC OS2

1502697612-E OpDAT slide patch panel splice 12xLC-Duplex APC OS2

1502697624-E OpDAT slide patch panel splice 24xLC-Duplex APC OS2

1502697N12-E OpDAT slide patch panel splice
12xLC-D APC Grade B (green), OS2, gray

1502697P12-E OpDAT slide patch panel splice
12xLC-D UPC Grade B (blue), OS2, gray

150269BN12-E OpDAT slide patch panel splice
12xSC-D APC Grade B (green), OS2, gray



Data sheet
Mounting kit, cage nuts M6

     Page 20/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150269BP12-E OpDAT slide patch panel splice

12xSC-D UPC Grade B (blue), OS2, gray

150269D106-E OpDAT slide patch panel splice 6xST-Duplex OS2

150269D112-E OpDAT slide patch panel splice 12xST-Duplex OS2

150269D124-E OpDAT slide patch panel splice 24xST-Duplex OS2

150269D206-E OpDAT slide patch panel splice
6xSC-D (metal), OS2, gray

150269D212-E OpDAT slide patch panel splice 12xSC-Duplex (metal) OS2

150269E206-E OpDAT slide patch panel splice 6xSC-Duplex OS2

150269E212-E OpDAT slide patch panel splice 12xSC-Duplex OS2

150269E224-E OpDAT slide patch panel splice 24xSC-Duplex OS2

150269F206-E OpDAT slide patch panel splice 6xSC-Duplex APC OS2

150269F212-E OpDAT slide patch panel splice 12xSC-Duplex APC OS2

150269F224-E OpDAT slide patch panel splice 24xSC-Duplex APC OS2

1502705F24-E OpDAT slide R patch panel VIK 24xE2000-Duplex APC OS2

1502707424-E OpDAT slide R patch panel VIK 24xLC-Duplex OS2

1502707524-E OpDAT slide R patch panel VIK 24xLC-Duplex OM4

1502707624-E OpDAT slide R patch panel VIK 24xLC-Duplex APC OS2

1502707724-E OpDAT slide R patch panel VIK 24xLC-Duplex OM3

1502707M24-E OpDAT slide R patch panel VIK 24xLC-Duplex OM5

150270BA24-E OpDAT slide R patch panel VIK 24xSC-Duplex OM3

150270BB24-E OpDAT slide R patch panel VIK 24xSC-Duplex OM4

150270E224-E OpDAT slide R patch panel VIK 24xSC-Duplex OS2

150270F224-E OpDAT slide R patch panel VIK 24xSC-Duplex APC OS2

1502757724-E OpDAT slide R patch panel splice 24xLC-Duplex OM3

150275BA24-E OpDAT slide R patch panel splice 24xSC-Duplex OM3

1502777524-E OpDAT slide R patch panel splice 24xLC-Duplex OM4

150277BB24-E OpDAT slide R patch panel splice 24xSC-Duplex OM4

1502787M24-E OpDAT slide R patch panel splice 24xLC-Duplex OM5

1502795F24-E OpDAT slide R patch panel splice 24xE2000-Duplex APC OS2

1502797424-E OpDAT slide R patch panel splice 24xLC-Duplex OS2

1502797624-E OpDAT slide R patch panel splice 24xLC-Duplex APC OS2

150279E224-E OpDAT slide R patch panel splice 24xSC-Duplex OS2

150279F224-B OpDAT slide R patch panel splice
24xSC-Duplex APC OS2 black



Data sheet
Mounting kit, cage nuts M6

     Page 21/21

P/N
130792

EAN 4250184103547
2023/03/30
Version: B

Accessories from
150279F224-E OpDAT slide R patch panel splice 24xSC-Duplex APC OS2

1502877548-E OpDAT slide patch panel splice
48xLC-D (violet), OM4, gray

1502897448-E OpDAT slide patch panel splice
48xLC-D (blue), OS2, gray

1502997472-E OpDAT slide patch panel splice
72xLC-D (blue), OS2, gray

1528SBGT19-E OpDAT CM 19 inches/3RU subrack

854544-E Module frame 1RU 19 inch, unequipped

854568-E Module frame 10 inch 1RU

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

